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INTERMEDIATE EXAMINATION – 2022 (ANNUAL) 

Model Set  

I.Com. 

Entrepreneurship (Elective).

le;%& 3 ?kaVs 15 feuV 

Time:- 3 hours 15 minute            
 
dqy iz’uksa dh la[;k % 70 $ 20 $ 6 ¾ 96      
Total no. of questions : 70 $ 20 $ 6 ¾ 96  

 

Instructions for the candidates :- 

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz’u iqfLrdk Øekad ¼10 vadksa dk½ vo’; 

fy[ksaA                                                       

Candidate must enter his/her Question Booklet Serial No. (10 

Digits) in the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

3- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz'uksa  dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; 

fn;k x;k gSA 

Subject Code :- 218 

iw.kkZad & 100 
Full Marks -100 
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15 minutes of extra time has been allotted for the candidates to 

read the questions carefully. 

5- ;g iz’u iqfLrdk nks [k.Mksa esa gS]  ,oa  

This question Booklet is divided into two sections: Section-A and 

Section-B. 

6- [k.M&v esa 70 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 35 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA 35 ls vf/kd iz’uksa ds mÙkj nsus ij izFke 35 mÙkjksa dk gh 

ewY;kadu fd;k tk,xkA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA lgh mÙkj 

miyC/k djk;s x;s OMR mÙkj i=d esa fn;s x;s lgh òÙk dks uhys@dkys ckWy 

isu ls HkjsaA fdlh Hkh izdkj ds âkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk 

mÙkj&iqfLrdk esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, There are 70 objective type questions, out of which 

any 35 questions are to be answered. First 35 answer will be 

evaluated in case more than 35 questions are answered. Each 

Question carries 1 mark. Darken the circle with blue/black ball pen 

against the correct option on OMR Answer Sheet provided to you. 

Do not use Whitener/liquid/blade/nail etc. on OMR-Sheet, 

otherwise the result will be invalid. 

7- [k.M&c esa 20 y?kqmÙkjh; iz’u gSaA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSa] 

ftuesa ls fdUgha 10 iz’uksa dk mÙkj nsuk vfuok;Z gSA buds vfrfjDr] bl [k.M 

esa 6 nh?kZ mÙkjh; iz’u fn;s x;s gSa] izR;sd iz’u ds fy, 5 vad fu/kkZfjr gS] 

ftuesa ls fdUgha 3 iz’uksa dk mÙkj nsuk gSA 
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In Section-B, there are 20 Short answer type questions. Each 

questions carries 2 marks, out of which any 10 questions are to be 

answered. Apart from this, there are 6 Long Answer type 

questions, each question carries 5 marks, out of which any 3 

questions are to be answered. 

8- fdlh izdkj ds bysDVªkWfud midj.k dk bLrseky iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited.

Section- A (Objective Type Questions) 

iz'u la[;k 1 ls 70  rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls 

,d lgh gSA vius }kjk pqus x, 35 iz’uksa ds lgh fodYi dks OMR&’khV ij fpfUgr djsaA 

izR;sd ds fy, 1 vad fu/kkZfjr gSA       35 x 1=35 

Question No.- 1 to 70 have four options, out of which only one is 

correct. You have to mark your selected option of 35 questions on the OMR-

Sheet. Each question carries 1 (one) mark.   35 x 1 = 35 

1- volj vkSj m|eh ds e/; lEcU/k gS & 

(A) ikuh vkSj eNyh dk  (B) i’kq vkSj taxy dk  

(C) 'ksj vkSj cdjh dk   (D) buesa ls dksbZ ugha 

The relationship between opportunity and entrepreneur is of 

(A) Water and Fish  (B) Animal and Forest 

(C) Lion and Goat   (D) None of these 
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2- vkfFkZd uhfr;k¡ D;k fu/kkZfjr djrh gSa \ 

(A) O;olk; dh fn’kk   (B) O;olk; dh ek=k 

(C) O;olk; dh fn’kk ,oa ek=k (D) mijksDr esa ls dksbZ ugha 

Economic policies determine what ? 

(A) Direction of Business  

(B) Volume of Business  

(C) Direction and volume of business    

(D) None of the above 

3- O;olk; dk fu;ked <k¡pk fdlls lEcfU/kr gksrk gS \ 

(A) O;olk; dh fn’kk   (B) O;olk; dh ek=k 

(C) O;oLFkkiu    (D)  mijksDr esa ls dksbZ ugha 

Business Regulatory Frame work is concerned with what ? 

(A) Direction of Business (B) Volume of Business 

(C) Regulation   (D) None of the above 

4- vkfFkZd lgk;rk gS & 

(A) fj;k;r     (B) cV~Vk   

C-iqu% Hkqxrku    (D) buesa ls dksbZ ugha 

Subsidy is -  
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(A) Concession    (B) Discount  

(C) Repayment   (D) None of these 

5- Kku vtZu izfØ;k esa 'kkfey gksrs gSa & 

(A) lapkyu    (B) euksHkko  

(C) vuqfØ;k    (D) lHkh 

Learning Process involves - 

(A) Drive    (B) Cue 

(C) Response   (D) All   

6- Ekk¡x iwokZuqeku esa D;k 'kkfey gS \ 

(A) xzkgd     (B) mRikn fu;kstu  

(C) vYidkyhu iwokZuqeku  (D) miHkksDrk iwokZuqeku 

What is included in demand forcasting ? 

(A) Customer    (B) Product Planning  

(C) Short term forecasting (D) Consumer forecasting 

7- fuEu esa ls dkSu&lk ?kVd cktkj ewY;kadu ij izHkko Mkyrk gS \ 

(A) lw{e okrkoj.k   (B) mRikn dh ykxr 

(C) ek¡x     (D) mijksDr esa ls dksbZ ugha 

Which of the following Factors affects market assessment ? 

(A) Micro Environment  (B) Product Cost 
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(C) Demand     (D) None of the above 

8- cktkj dh ek¡x dks tkuk tkrk gS & 

(A) ek¡x dh Hkfo";ok.kh  (B) okLrfod ek¡x 

(C) iwfrZ     (D) mijksDr esa ls dksbZ ugha 

Market Demand is known as - 

(A) Demand Forecasting  (B) Real Demand 

(C) Supply    (D) None of the above 

9- O;ogk;Zrk v/;;u esa fuEu esa ls fdldk v/;;u fd;k tkrk gS \ 

(A) ykxr    (B) ewY; 

(C) lapkyu    (D) mijksDr lHkh 

Which of the following is essential to study in feasibility study? 

(A) Cost    (B) Price 

(C) Govern    (D) All of the above 

10- O;olk; dh lkekU; ;kstuk dk fuekZ.k vki dSls djsaxs \  

(A) mRiknu fu;kstu djds  (B) ykxr fu;kstu djds 

(C) foÙkh; fu;kstu djds  (D) mijksDr lHkh 

How will you formulate general plan of business ? 

(A) By production planning (B) By Cost planning 
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(C) By Financial planning (D) By doing all of the above 

11- cktkj esa iw.kZrk dh fLFkfr dks D;k lf̀tr djrk gS tks vUrr% foØh ,oa ykHk esa 

o`f) djrk gS \ 

(A) vkfo"dkj    (B) izoÙkZu 

(C) foi.ku    (D) mi;qZDr esa ls dksbZ ugha 

What creates perfection in the market which ultimately increase 

the volume of sales and profit ? 

(A) Innovation    (B) Promotion 

(C) Marketing   (D) None of the above 

12- fu;kstu lHkh izcU/kdh; fØ;kvksa dk gS & 

(A) izkjEHk    (B) vUr 

(C) izkjEHk rFkk vUr nksuksa  (D) buesa ls dksbZ ugha 

Of all managerial activities, planning is the - 

(A) Beginning   (B) End 

(C) Beginning and end both (D) None of these 

13- fu;kstu gS & 

(A) vko’;d    (B) vuko’;d 

(C)  le; dh cckZnh   (D)  /ku dh cckZnh 

Planning is - 
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(A) Necessary   (B) Unnecessary 

(C) Wastage of time  (D) Wastage of money 

14- vk/kqfudhdj.k lq/kkjrk gS & 

(A) mRiknksa dks    (B) mRiknu dks 

(C) izfØ;kvksa dks   (D) {kerk dks 

Modernisation improves - 

(A) Products    (B) Production 

(C) Processes   (D) Capacity 

15-  ifj;kstuk igpku O;ogkj djrh gS & 

(A) O;ogk;Z ifj;kstuk fopkj ls (B) rkfdZd volj ls 

(C) izHkko’kkyh ek¡x ls   (D) buesa ls dksbZ ugha 

Project identification deals with - 

(A) Viable Project idea  (B) Logical opportunity  

(C) Effective demand  (D) None of these 

16- ifj;kstuk rS;kj dh tkrh gS & 

(A) izoÙkZdksa }kjk   (B) izcU/kdksa }kjk 

(C) m|eh }kjk    (D) bu lHkh ds }kjk 

Project is prepared - 
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(A) By Promoters   (B) By Managers 

(C) By Entrepreneurs  (D) By all of these 

17- rduhfd&vkfFkZd fo’ys"k.k esa igpku fd;k tkrk gS & 

(A) iwfrZ lEHkkouk   (B) ek¡x lEHkkouk 

(C) fu;kZr~ lEHkkouk   (D) vk;kr lEHkkouk 

Techno-economic analysis deals with identification of the -  

(A) Supply Potential  (B) Demand Potential 

(C) Export Potential  (D) Import Potential 

18- fuEu esa ls dkSu rduhfd lalk/ku esa 'kkfey gS \ 

(A) mRiknu    (B) foi.ku 

(C) mRiknu dh izfØ;k  (D) mijksDr esa ls dksbZ ugha 

Which of the following is included in technical resources? 

(A) Production   (B) Marketing 

(C) Process of Production (D) None of the above 

19- fLFkj ykxr esa 'kkfey jgrk gS & 

(A) dPps eky dh ykxr  (B) Je dh ykxr 

(C) 'kfDr dh ykxr   (D) dkj[kkuk ykxr 

Fixed Cost includes - 

(A) Cost of raw material  (B) Cost of labour 
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(C) Cost of power   (D) Factory Cost 

20- nh?kZdkyhu _.k ij gksrk gS & 

(A) fLFkj C;kt nj   (B) ifjorZu’khy C;kt nj 

(C) 'kwU; C;kt nj   (D) mi;qZDr esa ls dksbZ ugha 

Long term loan bears :- 

(A) Fixed rate of interest  (B) Flexible rate of interest 

(C) Zero rate of interest  (D) None of the above 

21- la;qDr iw¡th okyh dEiuh ds fy, ykHkka’k nsuk gS & 

(A) ,sfPNd    (B) vfuok;Z 

(C) vko’;d    (D) buesa ls dksbZ ugha 

For a joint stock company, payment of dividend is - 

(A) Voluntary   (B) Compulsory 

(C) Necessary   (D) None of these 

22- Iyk.V dk Ø; dk;Z’khy iw¡th esa D;k djsxk \ 

(A) deh     (B) òf) 

(C) dksbZ izHkko ugha   (D) buesa dksbZ ugha 

What will do purchase of plant in working capital ? 

(A) Decrease    (B) Increase 

(C) No effect    (D) None of these 

23- _.ki= ds fuxZeu }kjk [;kfr dk Ø; gS %& 
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(A) dks"k dk iz;ksx   (B) dks"k dk lzksr 

(C) dks"k dk izHkko ugha  (D) buesa ls dksbZ ugha 

Purchase of goodwill by issuing debentures is -  

(A) Application of Fund  (B) Sources of Fund 

(C) No Flow of Fund  (D) None of these 

24- pkyw vuqikr gksrk gS &  

(A) vkfFkZd fpV~Bk vuqikr  (B) ykHk&gkfu vuqikr 

(C) fefJr vuqikr   (D) buesa ls dksbZ ugha 

Current Ratio is - 

(A) Balance Sheet Ratio  (B) P/L Ratio 

(C) Composit Ratio  (D) None of these 

25- LdU/k vkorZ vuqikr vkrk gS & 

(A) rjyrk vuqikr ds vUrxZr (B) ykHknk;d vuqikr ds vUrxZr 

(C) fØ;k’khyrk vuqikr ds vUrxZr (D) foÙkh; fLFkfr vuqikr ds vUrxZr 

Stock Turnover Ratio Comes under -  

(A) Liquidity Ratio   (B) Profitability Ratio 

(C) Activity Ratio   (D) Financial Position Ratio 

26- Rkjyrk ijh{k.k dk lcls l[r vuqikr gS & 

(A) iw.kZ  rhoz vuqikr   (B) pkyw vuqikr 

(C) rjy vuqikr   (D) 'kq) ykHk vuqikr 
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The most rigorous test of liquidity is - 

(A) Absolute quick ratio  (B) Current ratio   

(C) Liquid ratio   (D) Net profit ratio 

27- le&foPNsn fcUnq D;k izdV djrk gS \ 

(A) ykHk     (B) gkfu 

(C) u ykHk u gkfu   (D) mijksDr esa ls dksbZ ugha 

What break-even point shows ? 

(A) Profit    (B) Loss 

(C) Neither profit nor loss (D) None of the above 

28- okLrfod foØ; rFkk le&foPNsn foØ; dk vUrj dgykrk gS & 

(A) lhek lqj{kk    (B) dqy ykxr 

(C) le&foPNsn fcUnq   (D) mijksDr esa ls dksbZ ugha 

The difference between actual sales and break-even sale is known 

as - 

(A) Margin of Safety  (B) Total Cost 

(C) Break-even point  (D) None of the above 

29- lqj{kk lhek gS & 

(A) fcØh ?kVko va’knku   

(B) okLrfod fcØh ?kVko ch0 bZ0 ih0 fcØh 

(C) ch0 bZ0 ih0 ij fcØh ?kVko okLrfod fcØh 
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(D) buesa ls dksbZ ugha 

Margin of Safety is - 

(A) Sales minus Contribution 

(B) Actual sales minus B.E.P. sales 

(C) B.E.P. sales minus Actual sales 

(D) None of these 

30- va’knku gS & 

(A) fcØh ?kVko dqy ykxr  

(B) fcØh ?kVko ifjoÙkZu’khy ykxr 

(C) fcØh ?kVko fLFkj ykxr  

(D) buesa ls dksbZ ugha 

Contribution is :- 

A. Sales Less total Cost 

B. Sales Less Variable Cost 

C. Sales Less fixed Cost 

D. None of these 

31- le&foPNsn fcUnq gS %&  

(A) fLFkj ykxr @ ykHk&ek=k vuqikr    

(B) fLFkj ykxr @ va’knku x 100  

(C) ykHk&ek=k vuqikr @ fLFkj ykxr 
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(D) buesa ls dksbZ ugha 

B. E. P. is :- 

(A) Fixed Cost / P/V  Ratio 

(B) Fixed Cost / Contribution x 100 

(C) P/V Ratio / Fixed Cost 

(D) None of these 

32- m|eh iw¡th miyC/k gS & 

(A) vR;ar tksf[keh bdkbZ;k¡ gsrq 

(B) rduhdh bdkbZ;k¡ gsrq  

(C) laLFkkxr bdkbZ;k¡ gsrq 

(D) bu lHkh ds fy, 

Venture Capital is available for -  

(A) High Risk Units 

(B) Technical Units 

(C) Institutional Units 

(D) All of these 

33- m|eh iw¡th esa jgrk gS & 

(A) mPp tksf[ke   (B) lkgfld tksf[ke 

(C) dksbZ tksf[ke ugha   (D) buesa ls dqN ugha 
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Venture Capital contains :- 

(A) High Risk   (B) Venture Risk 

(C) No Risk    (D) None of these 

34- m|eh iw¡th fopkj loZizFke mRiUu gqvk %& 

(A) Hkkjr esa    (B) baXyS.M esa 

(C) vesfjdk esa    (D) tkiku esa 

Venture Capital concept was first originated in - 

(A) India    (B) England 

(C) America    (D) Japan 

35- tksf[ke iw¡th f’kyk/kkj fuEu }kjk LFkkfir fd;k x;k & 

(A) vkbZ ,Q lh vkbZ   (B) ;w Vh vkbZ 

(C) vkbZ Mh ch vkbZ   (D) vkbZ lh vkbZ lh vkbZ 

Risk capital Foundation was established by – 

(A) IFCI    (B) UTI 

(C) IDBI    (D) ICICI 

36- m|eh iw¡th dk L=ksr gS & 

(A) vk;kr&fu;kZr cSad  (B) lkgwdkj 

(C) O;kikfjd cSad   (D) ;s lHkh 

Source of Venture Capital is - 
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(A) Exim Bank   (B) Money Lender 

(C) Commercial Bank  (D) All of these 

37- iw¡th&xgu rduhd fdldk ,d izdkj gS \ 

(A) fodkl dk     (B) rduhd dk 

(C) fLFkjrk dk    (D) mijksDr esa ls fdlh dk ugha 

Capital-intensive technique is a type of - 

(A) Development   (B) Technique 

(C) Stability    (D) None of the above 

38- Je&xgu izkS|ksfxdh mi;qDr gS D;ksafd bldk laca/k gS \ 

(A) izdf̀r esa vfopy   (B) izdf̀r esa xfr’khy 

(C) izdf̀r esa :dh gqbZ   (D) mi;qZDr lHkh 

Labour-intensive technique is appropriate because it relates with :- 

(A) Unstable nature  (B) Movable nature 

(C) Constant nature  (D) All of the above 

39- vkS|ksfxd {ks= gS & 

(A) O;kolkf;d LFkku   (B) vkS|ksfxd LFkku 

(C) Je vkoklh; uxjh  (D) mi;qZDr esa ls dksbZ ugha 

Industrial Estate is a - 

(A) Commercial place  (B) Industrial place 
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(C) Labour Locality  (D) None of the above 

40- ^^izcU/k ,d is’kk gSA** ;g dFku gS & 

(A) tkWtZ vkj VSjh dk   (B) vesfjdu izcU/k ,slksfl,’ku dk 

(C) gsujh Qs;ksy dk   (D) buesa ls fdlh dk ugha 

  “Management is a profession.” This statement is of - 

(A) George R. Terry   

(B) American Management Association 

(C) Henry Fayol 

(D) None of these 

41- izcU/k dyk gS & 

(A) Lo;a dke djus dk    

(B) nwljksa ls dke ysus dk 

(C) Lo;a dke djus ,oa nwljs ls dke ysus nksuksa dk    

(D) buesa ls dksbZ ugha 

Management is an art of :- 

(A) Doing work himself    

(B) Taking work from others 

(C) Both for doing himself and taking work from others 

(D) None of these 
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42- izcU/k dk lkekftd mÙkjnkf;Ro gS & 

(A) lHkh ds izfr   (B) dsoy deZpkfj;ksa ds izfr 

(C) ljdkj ds izfr   (D) bues ls dksbZ ugha 

The Social Responsibility of Management is - 

(A) Towards all   (B) Towards employees only 

(C) Towards the Government (D) None of these 

43- izcU/k D;k gS \ 

(A) dyk    (B) foKku 

(C) dyk vkSj foKku nksuksa  (D) buesa ls dksbZ ugha 

What is Management ? 

(A) Art     (B) Science 

(C) Art and Science both (D) None of these 

44- mRiknu dk izkjEHk cktkj] fuEu esa fdlds }kjk fu/kkZfjr gksuk pkfg, \ 

(A) iwfrZ     (B) ek¡x 

(C) izkbZejh ekdsZV   (D) f}rh;d ekdsZV 

Product launching market should be determined by which of the 

following ? 

(A) Supply     (B) Demand 

(C) Primary market  (D) Secondary market 
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45- oÙkZeku mRiknu O;oLFkk okLro esa gS & 

(A) izR;{k mRiknu   (B) vizR;{k mRiknu 

(C) izkFkfed    (D) f}rh;d 

Present production system, infact is - 

(A) Direct production  (B) Indirect production 

(C) Primary     (D) Secondary 

46- vizR;{k mRiknu esa fuEufyf[kr pj.k lfEefyr gSa & 

(A) izkFkfed    (B) f}rh;d 

(C) lgk;d    (D) mi;qZDr lHkh 

The following steps are included in indirect production :- 

(A) Primary    (B) Secondary 

(C) Tertiary    (D) All of the above 

47- mRikn fujh{k.k ds egÙoiw.kZ igyw gSa & 

(A) mRiknu fujh{k.k   (B) izfØ;k fujh{k.k 

(C) fujh{k.k fo’ys"k.k   (D) mi;qZDr lHkh 

The important aspects of product inspection are – 

(A) Production inspection (B) Process inspection 

(C) Inspection analysis  (D) All of the above 

48- O;fDrxr foØ; gS & 
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(A) ekSf[kd izLrqfr   (B) fyf[kr izLrqfr  

(C) n’̀; izLrqfr   (D) mi;qZDr esa ls dksbZ ugha 

Personal Selling is - 

(A) Verbal presentation  (B) Written presentation 

(C) Visual presentation  (D) None of these 

49- foKkiu dk mís’; gS & 

(A) lEHkkfor Øsrkvksa dks vkdf"kZr djuk 

(B) xzkgdksa dks lwpuk nsuk ,oa ekxZn’kZu djuk 

(C) mRiknksa dk izpkj djuk 

(D) buesa ls lHkh 

The purpose of Advertisement is - 

A. To attract potential buyers 

B. To inform and guide customers 

C. To make publicity of product  

D. All of these 

50- foi.ku dk ykHk gS & 

(A) miHkksDrkvksa dks   (B) O;olkf;;ksa dks 

(C) fuekZrkvksa dks   (D) lHkh dks  

The advantage of marketing is to – 

(A) Consumers   (B) Businessman 
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(C) Manufacturers   (D) To all 

51- foi.ku O;; Hkkj gS & 

(A) m|ksx ij    (B) O;olkf;;ksa ij  

(C) miHkksDrkvksa ij   (D) buesa ls lHkh ij 

Marketing expenditure is a burden - 

(A) On industry   (B) On businessman 

(C) On consumers   (D) On all of these 

52- foi.ku ij O;; fd;k x;k /ku gS & 

(A) cckZnh    (B) vuko’;d 

(C) xzkgdksa ij Hkkj   (D) fofu;kstu 

Money spent on marketing is -  

(A) Wastage    (B) Unnecessary  

(C) Burden on the Customers (D) Investment 

53- ykHkka’k gS & 

(A) 'kq) ykHk    (B) ykHk dk fu;kstu 

(C) lap; dks"k    (D) vforfjr ykHk dk va’k 

Dividend is – 

(A) Net profit    (B) Appropriation of profit 

(C) Reserve Fund   (D) Part of undistributed profit 
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54- vkbZ0 Mh0 ch0 vkbZ fdl o"kZ LFkkfir dh xbZ \ 

(A) 1944    (B) 1954 

(C) 1964    (D) 1974 

IDBI was established in which year ? 

(A) 1944    (B) 1954 

(C) 1964    (D) 1974 

55- ,l- ,Q- lh- ,DV Hkkjr esa fdl o"kZ ikfjr fd;k x;k \ 

(A) 1948    (B) 1949 

(C) 1950    (D) 1951 

SFC Act in India was passed in which year ? 

(A) 1948    (B) 1949 

(C) 1950    (D) 1951 

56- vf/keku va’kksa ij ykHkka’k nj gksrh gS & 

(A) fLFkj    (B) py 

(C) v)Z py    (D) buesas ls dksbZ ugha 

The rate of dividend  on preference shares is – 

(A) Fixed    (B) Variable 

(C) Semi variable   (D) None of these 

57- uXu _.k i= gksrs gSa & 
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(A) iw.kZr% lqjf{kr   (B) vkaf’kd lqjf{kr 

(C) vukjf{kr    (D) buesa ls dksbZ ugha 

Naked debentures are – 

(A) Fully secured   (B) Partly secured 

(C) Unsecured    (D) None of these 

58- ckW.M _.k] lk/ku gS & 

(A) nh?kZ&vof/k _.k dk  (B) e/;&dkyhu _.k dk  

(C) vYi vof/k _.k dk  (D) buesa ls dksbZ ugha 

Bond loan is a source of - 

(A) Long-term loan   (B) Medium –term loan 

(C) Short-term loan  (D) None of these 

59- Mwch ykxr gS & 

(A) Hkou    (B) etnwjh 

(C) Je     (D) buesa ls dksbZ ugha 

Sunk Cost is – 

(A) Building    (B) Wages 

(C) Labour    (D) None of these 

60- fLFkj ykxr dk mnkgj.k gS & 

(A) izcU/kd dk osru   (B) etnwjh 
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(C) lkexzh    (D) ;s lHkh 

The example of fixed cost is - 

(A) Salary of manager  (B) Wages 

(C) Material     (D) All of these 

61- dkSu ewy ykxr esa 'kkfey ugha gS \  

(A) izR;{k O;;    (B) izR;{k Je  

(C) vizR;{k O;;   (D) buesa ls dksbZ ugha  

Which is not included in Prime Cost ? 

(A) Direct Expense  (B) Direct Labour 

(C) Indirect Expense  (D) None of these 

62- ykxr dk rÙo gS & 

(A) lkexzh    (B) Je 

(C) O;;     (D) ;s lHkh 

The element of cost is - 

(A) Material    (B) Labour 

(C) Expenses   (D) All of these 

63- py ykxr dk Js"Bre mnkgj.k gS & 

(A) iw¡th ij C;kt   (B) lkexzh ykxr 

(C) /ku dj    (D) fdjk;k 
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The best example of variable cost is – 

(A) Interest on Capital  (B) Material Cost 

(C) Wealth tax    (D) Rent 

64- dqy ykxr esa 'kkfey gS & 

(A) eq[; ykxr   (B) dkj[kkuk ykxr 

(C) mRiknu ykxr   (D) mijksDr lHkh 

Total cost includes – 

(A) Prime Cost   (B) Works Cost 

(C) Production Cost  (D) All the above 

65- laòf) dks izHkkfor djus okys rÙo gSa & 

(A) izfr;ksfxrk    (B) rduhd esa ifjoÙkZu 

(C) l̀tu’khyrk   (D) buesa ls lHkh 

Element affecting growth rate is – 

(A) Competition   (B) Change in technology 

(C) Creativity    (D) All of these 

66- izkjfEHkd pj.k esa mRiknu gksrk gS & 

(A) lhfer ek=k essa   (B) òg~n ek=k esa  

(C) A ,oa B nksuksa esa    (D) buesa ls dksbZ ugha 
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Production in the start-up stage is in – 

(A) Limited quantity  (B) Large quantity 

(C) Both A and B   (D) None of these 

67- O;olk; ls lEcfU/kr dkuwu gS & 

(A) dEiuh vf/kfu;e 2013  (B) lk>snkjh vf/kfu;e 1932 

(C) vuqcU/k vf/kfu;e 1872  (D) ;s lHkh 

Laws related to business is – 

(A) Company Act 2013  (B) Partnership Act 1932 

(C) Contract Act 1872  (D) All of these 

68- iznw"k.k ds dkj.k gSa & 

(A) eksVj xkfM+;ksa rFkk ;krk;kr (B) taxyksa dh dVkbZ 

(C) c<+rh gqbZ tula[;k  (D) ;s lHkh 

The causes of Pollution are – 

(A) Motor Vehicle and Traffic (B) Deforestation  

(C) Increasing population (D) All of these 

69- lkglh dk dÙkZO; gS & 

(A) equkQk olwyh   (B) dj pksjh 

(C) i;kZoj.k iznw"k.k   (D) buesa ls dksbZ ugha 

Duty of Entrepreneur is – 
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(A) Over charging   (B) Tax-evasion 

(C) Environmental Pollution (D) None of these 

70- m|eh ds nkf;Ro gS & 

(A) lekt ds izfr   (B) ljdkj ds izfr 

(C) i;kZoj.k ds izfr   (D) mijksDr lHkh 

Responsibility of Entrepreneur is – 

(A) Towards society   (B) Towards Government 

(C) Towards Environment (D) All of the above 

Section-B

Short Answer Type Questions

iz’u la[;k 1 ls 20 rd y?kq mÙkjh; gSaA buesa ls fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 2 vad fu/kkZfjr gSaA       (10x2=20) 

Question no. 1 to 20 are Short answer type. Answer any 10 questions. Each 

question carries 2 marks.      (10x2=20) 

1- volj ,oa m|eh ds e/; D;k lEca/k gS \ 

What are the relationship between Opportunity and Entrepreneur ? 

2- volj ykxr D;k gS \ 

What is Opportunity Cost ? 

3- m|ferk esa i;kZoj.kh; ewY;kadu dk D;k egÙo \ 
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What is the importance of Environmental appraisal in 

Entrepreneurship ? 

4- cktkj ewY;kadu ls vki D;k le>rs gSa \ 

What do you mean by market assessment ? 

5- fdlh oLrq ;k lsok dk pquko djrs le; lkglh dks fdu ckrksa dk /;ku j[kuk 

pkfg, \ 

What factors should be Considered by Entrepreneur while 

selecting a product or service ? 

6- izkstsDV fjiksVZ D;ksa vko’;d gS \ 

Why the Project Report is essential ? 

7- fu;kstu dh dksbZ rhu fo’ks"krk,¡ crkb,A 

Mention any three features of planning. 

8- fu;kstu dh izfØ;k dk laf{kIr o.kZu djsa & 

Briefly discuss the process of planning. 

9- Ifj;kstuk ewY;kadu ds D;k mís’; gS \ 

What are the object of project appraisal ? 

10- iw¡th ds fofHkUu izdkjksa dk o.kZu djsaA 

Explain the different Kinds of Capital ? 

11- le&foPNsn fcUnq dk fu/kkZj.k dSls gksrk gS \ 

How Break-even point is determined ? 

12- ykHk&ek=k vuqikr D;k gS \ 

What is Profit-Volume Ratio ? 
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13- lkgfld iw¡th dh ifjHkk"kk nsaA 

Define venture capital. 

14- laxBu D;k gS \ 

What is organisation ? 

15- fu;kZr mRiknksa ds fdLe fu;U=.k la{ksi esa fyf[k;s & 

Write in brief about quality control of Export Products. 

16- foi.ku dh vo/kkj.kk dks Li"V dhft,A 

Explain the marketing concept. 

17- iSdsftax ds pkj egÙo crkb,A 

State four importance of packaging. 

18- vYidkyhu foÙk ds D;k lk/ku gSa \ 

What are the sources of short-term finance ? 

19- volj ykxr rFkk la;qDr ykxr D;k gS \ 

What is opportunity cost and joint cost ? 

20- foi.ku izcU/k dh ifjHkk"kk nhft,A 

Define marketing management. 

Long Answer Type Questions

iz’u la[;k 21 ls 26 rd nh?kZ mÙkjh; gSaA buesa ls fdUgha 3 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 5 vad fu/kkZfjr gSaA       (3x5=15) 

Question no. 21 to 26 are Long answer type. Answer any 3 questions. Each 

question carries 5 marks.      (3x5=15) 

21- m|ferk dh ifjHkk"kk nsa ,oa mldh nks fo’ks"krk,¡ crkb;sA 
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Define Entrepreneurship and state its two features. 

22- ,d lkglh ds fy, i;kZoj.k dk v/;;u djuk D;ksa vko’;d gS \ 

Why the environmental study is essential for an entrepreneur ? 

23- miØe LFkkiuk dk fØ;kUo;u vki dSls djsaxs \ 

How would you execute the setting up of an enterprise ? 

24- fu;kstu dh ifjHkk"kk nsaA bldh fo’ks"krkvksa dk o.kZu djsaA 

Define planning. Explain its features. 

25- dks"k&izokg fo’ys"k.k dh lhek;sa D;k gS \ 

What are the limitations of Fund Flow Analysis ? 

26- ys[kkadu vuqikr ls vki D;k le>rs gSa \ blds mís’; D;k gSa \ 

What do you mean by Accounting Ratios ? What are its 

objectives? 


